PHYS 101: General Physics 1 ~ KOC UNIVERSITY
College of Arts and Sciences
Section Quiz 1-1

Closed book. No calculators are to be used for this quiz.

Quiz duration: 15 minutes
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[. [30pts] Which of the following expressions involving vectors arc mathematically
legitimate? Mark only. No calculation is required.
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2. [70 pts] Given two vectors A=i- 3], B = —4i+ k. Calculate (f_f - E) X (;_1' + §)




PHYS 101: General Physics 1 ~ KOC UNIVERSITY Fall Semester 2016
College of Arts and Sciences
Section Quiz 1-2 October 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

1. [30pts] Which of the following expressions involving vectors are mathematically
legitimate? Mark only. No calculation is required.
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2. [70 pts] Given two vectors A = i — 3j, B = —4i+ J. Calculate (4 x B) x B.
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Section Quiz 1-3 October 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

I. [30pts] Which of the following expressions involving vectors are mathematically
legitimate? Mark only. No calculation is required.
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2. [70 pts] Given two vectors A= B=—4i+ j. Calculate
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Section Quiz 1-4 October 2016

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

I. [30pts] Which of the following expressions involving vectors are mathematically
legitimate? Mark only. No calculation required.

2 22 B4+ B)E () [(éxB)- i

2. [70 pts] Given two vectors A=i- 3j, B = —4i+ J.Calculate (§ X 151') x A
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